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QUESTION 1

Your VPN tunnel does not pass traffic. You run the get ike cookie command and discover that there is no cookie. What
two (2) options should you check? 

A. Routes 

B. Policy configuration 

C. Phase 1 configuration options 

D. Phase 2 configuration options 

Correct Answer: AC 

 

QUESTION 2

-- Exhibit -

-- Exhibit -Click the Exhibit button. Which command will allow you to configure the Ethernet0/0interface to have the IP
address shown in the 

exhibit? 

A. set int e0/0 ip 1.1.1.250 

B. set int e0/0 ip 1.1.1.250/24 

C. set int e0/0 zone untrust ip 1.1.1.250 

D. set int e0/0 zone untrust ip 1.1.1.250/24 

Correct Answer: B 

 

QUESTION 3

Which type of NAT is performed when you implement interface-based NAT? 

A. source IP address translation 
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B. destination IP address translation 

C. source IP and port address translation 

D. destination IP and port address translation 

Correct Answer: C 

 

QUESTION 4

Which is NOT a component of a tunnel interface configuration? 

A. zone 

B. virtual router 

C. subnet mask 

D. IP addressing 

Correct Answer: B 

 

QUESTION 5

On a 5GT using multi-cell policies, what is the largest number of entries that can be entered into the source, destination
or service fields? 

A. 8 

B. 16 

C. 24 

D. 32 

Correct Answer: D 
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